50, will be treated as malpractice.

, compulsorily draw diagonal cross lines on the remaining blank pages.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Time: 3 -hts.

Note: Answer any FIVE full questions, ch osing ONE full question
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Sixth Semester B.E. Degree Examinatio ,Dec.2019/Jan.2020

Computer COmmunicaﬁtioﬁn‘y Networks

.. Max. Marks: 80

from each module.

»»Module 1
Mention the layers of TCP/IP proto“col suite and explain brleﬂy about layers and protocols in

each layer. (10 Marks)

Define bit stuffing. Perform bit stufﬁng for given data QOOI 1 11111001111101000 assume

flagas 01111110. (06 Marks)
/ OR

Explain stop and wait protocol . & (08 Marks)

(i) Define byte staffing (02 Marks)

(ii) Perform byte stuffing for frame payload in which E is the Escape byte, F is the Flag
byte, and D is the data byte other than‘an Escape or a Flag Character.

|D|E|D|D|E|D|DLW|F|D|F|D]

(06 Marks)

,  Module-2 |
Explain 1-persisent, non< ersistent and p- per51stent methods of (CSMA) Carrier Sense
Multipie Access. i (66 Marks)
Explain the Ethernet frdrhe format of standard. Ethernet (06 Marks)

Ina standard Ethemet/ with the transmlsSI n rate of 10 Mbps length of the medlum is 2500

tttttt

normally 2 x 108 mts/sec. Find :
(i)  Propagation delay
(ii) Transmlssron delay

(04 Marks)

’Q?"l’fExplain working of’ ’(CS%MVA/CD) carrieriés“erise) multiple access/collision detection. (08 Marks)
_Discuss polling as.a controlled access technique. (04 Marks)

A slotted ALOHA network transmrts 200 bit frames using a shared channel with a 200 Kbps
bandwidth. Fmd the throughput/ 1f th@ system (all stations together) produce.

(i) 1000 frames/sec

(ii) 500 frames/sec

(iii) 250 frames/sec (04 Marks)
i Module-3
What are the characterlstlcs of wireless LAN? (05 Marks)
) _,onet and Scatternet in Bluetooth. (05 Marks)
Explain the characteristics of Virtual Local Area Network (VLAN) used to group stations.
(06 Marks)
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Explain the following interconnecting devices:
(i) Hub
(ii) Link layer switch
(iii) Router (06 Marks)
What is NAT? Explain how NAT help "Address depletlon (Network Address
Translatlon) (05 Marks)

+ S1, S2, S3, Sa, Ss are switches

(05 Marks)

(08 Marks)

(08 Marks)

Explam least cost tree usmg sh,,ared link state data base w1th suitable example (10 Marks)

ain general format of ICMP messages. /.9 (06 Marks)

u ata transfer and connection
(10 Marks)

%
termination in Tt ansmlsswn Control Brotqcol (TCP).

The followmgws the content of U]PV (User DatagramAPrétocol) header in hexadecimal

Py

is the total length: of the user datagram?
iv) What is the length of the data?
'Vv) Is the packet dlrected from a client to-a server or vice versa? (06 Marks)

(10 Marks)
im packet format with a neat diagram. (06 Marks)

Briefly explain TCP(Psegment format:
Explain different field in user datag);

* %k ok 3k %k




